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1. Define exports and imports. Find the value of imports and export for the year 2008 and 2009 for your own country (each member of the group for his own). What was the change in imports and exports from 2008 to 2009? What is the export ration of your countries?

             Exports - Goods and services that are produced domestically and sold to       buyers in another country.

            Imports - Merchandise that is made in a foreign country and sold domestically.

The value of import for Russian Federation: - 2008: 266,9 billions $.

                                                                        -2009: 167,4 billions $.

Imports decreased by 37,3 % from 2008 to 2009.

The value of export for Russian Federation – 2008: 468,1 billions $.

·   2009: 301,6 billions $.

Exports decreased by 35,5 % from 2008 to 2009.

Last data about export ratio for Russia was 33% in 2008, but it decreased because of the crisis, and there is no newest data about it.

 Kazakhstan

NOTE: All figures are in millions of U.S. dollars, and not seasonally adjusted unless otherwise specified.for 2009 year.

	Month
	Exports
	Imports
	Balance

	TOTAL
	599.5
	1,545.8
	-946.3


2. Define trade balance. Is your country running a trade deficit or trade surplus? (again, each member of the group answers).

Trade balance - the difference in value over a period of time of a country's imports and exports of merchandise. Russian Federation had budget deficit of 5,9 % of GDP in 2009, but is also had a budget surplus of  2,4 % in January 2010. 

For Kazakhstan see table from question1, it is trade deficit. 

3. What commodities/services does your country export, and what commodities/services does your country import? (all group members answer) .

Russian Federation is exporting gas and oil products, coal, paper and wood materials, agricultural goods and chemicals. It’s importing machines, automobiles, chemicals and plastic materials.

Kazakhstan

Exports are dominated by petroleum products, followed by nonferrous and ferrous metals. Kazakhstan's largest imports  machinery,finished oil and gas products,plastic materials.

4. Who are the 5 greatest trading partners of your country? Do you have a trade deficit or trade surplus with them? (all group members answer)

5 greatest trading partners of Russian Federation are: Ukraine(trade surplus), Germany(trade deficit), USA(trade surplus), Switzerland(trade surplus) and China(trade surplus).

Kazakhstan

Russia(trade deficit); Italy(trade surplus); China(trade surplus);Germany(trade surplus);Ukraine(trade surplus);United States(trade deficit) 



5. Explain why specialization is efficient.

Specialization in international trade is efficient, because it allows to use the producing resources of the country more rationally. For example, if some goods are cheaper in another country it would be more practical to buy them rather than produce. Or it can be just more efficient to produce expensive goods and buy cheaper ones.

6. Explain why how the production and consumption possibilities differ in the countries with and without external trade.

The production and consumption possibilities differ that way, so in the countries without external trade, consumption possibilities strictly depend on production possibilities, so the country can consume only the same amount as it’s producing.  But with external trade, the consumption of goods depends only on the amount of goods, which can be bought. The production possibilities don’t matter here. 

7. On an example (other than on the lecture) explain the concept of comparative advantage.

In some city the best lawyer is also the best secretary, so he can be the most productive lawyer and the most productive secretary in that city. But this lawyer can just focus on being a lawyer and, instead of working on both occupations he can just employ a secretary. After that, both the output of the lawyer and the secretary would increase, because it’s more difficult and more productive to be a lawyer rather than a secretary. 

8. On an example (other than on the lecture) explain the concept of absolute     advantage. Why doesn’t the absolute advantage in production of a commodity matter in the international trade?

Absolute advantage – the ability of a country to produce a specific good with fewer resources (per unit of output) than other countries.

In simply words (example )

Assume that 

Company A can produce 5 wheels per hour with 3 employees. 

Company  B can produce 10 wheels per hour with 3 employees. 

Assuming that the employees of both companies are paid equally, Company B   has an absolute advantage over Company B in producing wheels per hour. This is because Company B can produce twice as many wheels as Party A can with the same number of employees.

However, what are really cared about are opportunity costs – what is given up in order to get more of a desired good. In international trade, the world output and the potential gains from trade will be maximized when each country pursues its comparative advantage. 

9. Suppose a lawyer can type faster than secretary. Should the lawyer do his own typing? Why yes or not?
Lawyer has absolute advantage in both writing and being lawyer. But in order for him to be efficient as a lawyer (higher productivity, saved time) he rather would not do typing himself. 

10.What are terms of trade? How are they established (what are the limits for the ratio of the exchange of goods)?
Terms of trade is the rate at which goods are exchanged – the amount of good A given up for good B in trade. The terms of trade, like the price of any good, depends on the willingness of market participants to buy or sell at various prices. 

- A country will not trade unless the terms of trade are superior to domestic opportunities.

- The terms of trade between two countries will lie somewhere between their respective opportunity costs in production.

11. In general, who are the proponents of protectionism and who are opponents of protectionism (think about import and export industries)? Trade restrictions designed to protect specific microeconomic interests reduce the total gains from trade.

Proponents:

Workers and producers who compete with imported products – who work in import-competing industries – have an economic interest in restricting trade; because imports actually mean fewer jobs and less income for domestic industries.

Opponents:

Workers and producers in export industries, who gain from trade, because exports represent increased jobs and income for other industries.

12. Explain why international trade may be a concern of National Security. Give a real world example.
 Another argument for trade restriction is National Security. On the one side, it is vulnerable to depend on and rely on foreign suppliers to provide with essential defense-related goods. So here the imports are restricted. On the other side, it is not wise to provide potential “enemies” with vital technology, war-related goods. So, it is about restrictions of exports. 

13. Explain what is dumping and why it is used by importers.
Dumping is the sale of goods in export markets at prices below domestic prices (even below production costs).Mostly, it is seen as unfair to import-competing producers, but it is allow to the rest to buy foreign products at very low prices. However, it may be very risky and dangerous, because it may continue until domestic producers are driven out of business, and then foreign producers may increase their prices. Also, dumping may reflect greater productivity and lower costs. And lower import prices may drop the value of exporting country’s currency. 

It would be good to mention that dumping is used to increase market share (even run the whole market).

14. Explain the argument of the infant industries in the context of the protectionist pressures. Can you give any example when this argument was valid? (i.e. the country developed a new competitive industry)
Dumping is also threat for developing and growing of infant industries. Because of high startup costs (expenses for workforce, establishing new marketing channels), even normal export prices might make it difficult or impossible for a new domestic industry to develop. So, here trade restriction can be justified, it helps to nurture an industry in its infancy; however, the industry have to develop and establish its comparative advantage very quickly. For example, many developing nations have employed Import Substitution Industrialization (ISI) strategy, which  levy tariffs on imported goods in industries in which it wants to foster growth.(e.g.in 19th century – British market restricted cheap Indian cotton products, early 20th century- Japan restricted imports to develop new chemical and machinery industries.)

15. Explain how a country by imposing protectionist policies can improve terms of trade. What is the problem of this strategy?
Another argument for restricting trade is how the gains from trade are distributed; it depends on terms of trade. For example, if put restrictions on imports, make it more difficult or expensive to buy foreign products, it will reduce the volume of imports and induce foreign producers to lower their prices, which means to move the terms of trade on our favour and results in larger share of the gains from trade.  However, as everyone will pursue it, it may become more as retaliations, and dangers to eliminate all trade. 

16. Define embargo. Give an example go embargo (other than on the lecture).
Embargo is a prohibition on exports or imports against trading particular goods.  In 1951, Senator Joseph McCarthy convinced the U.S. Senate to impose an embargo on Soviet mink, fox, and other five furs. He argued that such imports helped finance world communism. One of the most comprehensive attempts at an embargo happened during the Napeoleonic Wars. In an attempt to cripple the United Kingdom economically, the Continental System - which forbade European nations from trading with the UK - was created. In practice it was not completely enforceable and was as harmful if not more so to the nations involved than to the British.  

17. Explain what is tariff. On the picture, explain how the tariff affects the price and the quantity of the goods demanded by consumers, and how it changes the shares of the goods supplied by domestic producers and importers.
A more frequent trade restriction is a tariff, a special tax imposed on imported goods. Another name is “customs duties”, were once the principal source of revenue for governments. A tariff makes imported goods more expensive to domestic consumers, and less competitive with domestically priced goods. Tariffs designed to expand domestic employment are more likely to fail than to succeed. If a tariff wall does steam the flow of imports, it effectively transfers the unemployment problem to other countries; a phenomenon often refers to as “beggar-thy-neighbor.”  The resultant loss of business in other countries leaves them less able to purchase our exports. The imported unemployment also creates intense political pressure for retaliatory action. Tariffs reduce the flow of imports by raising import prices. The same outcome can be attained more directly by imposing import quotas, restrictions on the quantity of a particular good that may be imported. For instance the US limits the quantity of ice cream imported from Jamaica to 950 gallons a year. Only 1.4 million kg of Australian cheddar cheese and no more than 7730 tons of Haitian sugar can be imported.

18. Explain what is quota. On the picture, explain how the quota affects the price and the quantity of the goods demanded by consumers, and how it changes the shares of the goods supplied by domestic producers and importers.
Quota is a limit on the quantity of a good that may be imported in a given time period. The same outcome of a tariff can be attained more directly by imposing an import quota. For example lower quotas on the import of US chicken meat (Russia). Quotas are a greater threat to competition than tariffs, because quotas preclude additional imports at any price - IMPORTANT.

19. What is voluntary restraint agreement and how is it different from quota? Give an example of voluntary restraint agreement (other than on the lecture).
Voluntary restraint agreement (VRA): An agreement to reduce the volume of trade in a specific good; a “voluntary” quota.  A slight variant of quotas has been used in recent years. Rather than impose quotas on imports, the US government asks foreign producers to “voluntarily” limit their exports.  VRS have been negotiated with producers in Japan, South Korea, Taiwan, China, the European Union, and other countries.  Quotas are a greater threat to competition than tariffs, because quotas preclude additional imports at any price. For example when the automobile industry in the United States was threatened by the popularity of cheaper more fuel efficient Japanese cars, a 1981 "voluntary restraint agreement" limited the Japanese to exporting 1.68 million cars to the U.S. annually. 

20. State min. 5 types of nontariff barriers to trade.
Nontariff Barriers. Emargoes, exports controls, tariffs and quotas are the most visible barriers to trade, but they’re only the tip of the iceberg. Indeed, the variety of protectionist measures that have been deviced is testimony to the ingenuity of the human mind. Non-tariff barriers to trade can be:

·  Import bans

· General or product-specific quotas

· Rules of Origin

· Quality conditions imposed by the importing country on the exporting countries

· Sanitary and phyto-sanitary conditions

· Packaging conditions

· Labeling conditions

· Product standards

· Complex regulatory environment

· Determination of eligibility of an exporting country by the importing country

21. Explain why some people see globalization and free trade as mixed blessing. State at least one reason other than what was presented on the lecture.
I can explain this with the example of my country – Russian Federation. For a really long time Russia is trying to enter WTO. It’ll bring some certain advantages such as better integration into the world trade and better relations with well-developed countries. But there are also some drawbacks of that situation. For example Russia will loose economical independence in some way, subsidies for the national producers will be limited and even national budget expenditures will increase a lot. I guess with most of the countries situation is the same.

22. Does your country belong to some regional trade pact? Give an example how this regional trade pact improves the quality of your life (e.g. free trade within EU brings me cheaper Belgium chocolates ).
 Yes, for example Russia belongs to regional trade pact with Kazakhstan and Belarus. Moreover there’s unobstructed pass through borders of these countries. I think that it’s a really good idea, because it’s really convenient to have free trade on these territories. And I can’t say that only Russia has benefit from that. I guess that this cooperation is useful for everyone, because trading connections between our countries are really tight. 

